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4A3H 2 10 40,500| = FE A & & 485
5A2H 7 10 40,500| = FE A & & 5%
5A16H 8 10 54,000| EFEMEEBAE iy B Eh i
58198 9 10 1582|#FERE 4AREBERHK
6A18H 10 10 40,500| = FE P & & 685
7H318 11 10 40,500| = FE A & & 185
7118 16 10 1412\ FERE 5ARERK
7A11H 17 10 1091 [#FERE 6ARERHK
8A10H 23 10 40,500| = FE P & & 8A%H
98308 24 10 40,500| = FE A & & 9RA%
9F 148 29 10 1244 [H BB E 7ARERHK
98148 30 10 1.669[f B IRE SANERHK
108318 33 10 40,500| = FE P & & 1085
104308 43 10 40,500| = FE P & & 1A%
104308 44 10 1.280[# B IR E OANEBERHK
104308 45 10 1,184| i EIRE 10ARESRK
12H8H 49 10 40,500| = FE A & & 12A%
12828H 51 10 1L162[f e IR E 11ARESRNK
12828H 52 10 1.353[#f B IR E 12RESRNK
1A7H 53 10 40,500| =T EEH 1A%
2A9H 55 10 1922| I ERE 1AERHK
3A6H 57 10 40,500| = FE A & & 3A%
3A31H 58 10 1590\ ERE 2AESRHK
3A31H 59 10 1409 [#E B IR E SARERHK
4H30H 60 10 4708| X EEEE 18—y ERERR4E S
5H31H 61 10 4708| X EEEE 18—y ERERKEA S
6H30H 62 10 4708| X EEEE 18—y ERERKEA S
7H318H 63 10 4708| X EEEE 18—y ERERKTA S
8H31H 64 10 4708| X EEEE 18—y ERERKSA S
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9A30H 65 10 4,708| X EEEE 1 A—Ry ERFERE0 A5
10A31H 66 10 4,708| XEBIEE 18—y ERERH 1085
11530H 67 10 4,708| XEBIEE 18—y ERERR 11845
12A31H 68 10 4,708| XEBIEE 18—y ERERR 12845
18318 69 10 4,708| X EEEE A A—Ry ERERE1 A S
2A28H 70 10 4,708| XEBIEE 1 A—Ry ERERE2 A5
3A318 71 10 4,708| XEBIEE 12 A—RyFERERHIAH

281H 72 10 40,500| BT E % 2A%




